yals

e o

dnwonewloju| aydsiuyoa
dnysisreq syoluy

==
:—h
g3
o2
3
O

Q2
=3
5o
2@
D

o U
o Q)
=
=2
o

20
8%
o -

=T
==
EZ
O
<
S
o
D

R(\) ion, Ry=0,036,R,=0,900
OstwaIdFarbe Grin G, A=470 A2=570 \;=520
Dreiecks-Helligkeit T*Tug

1,001
0,751

0,501

R(A) Normreflexion, R;=0,036,R,=0,900
Os1waIdFarbe Cyan C,A1=400 A,=570 \g=495
Dreiecks-Helligkeit T*us

R(A) Nor Ry=0,036,R,=0,900
OstwaldFarbe Gelb Y, A=495 \2=700 A¢=570
Dreiecks-Helligkeit T*tup
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OstwaldFarbe: Rot R, 112570 A=700 A=595
Dreiecks-Helligkeit T*Tug
1,001
0,751
0,501
0,25
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Rr(A) = R(A)/0,18 Relative Reflexion
OstwaldFarbe: Griin G, \=470 »=570 A¢=520
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R(A) Normreflexion, R,=0,036,R,=0,900
Os1waIdFarbe Magema M, A1=570 A,=470 \g=520c
ROV Dreiecks-Helligkeit T*us
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Rr(A) = R(}\)IO 18 Relative Reflexion
OstwaldFarbe: Cyan C,A1=400 ;=570 ,A4=495
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Normreflexion, R,=0,036,R,=0,900
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R(A) Normreflexion, Ry=0,036,R,=0,900
OstwaIdFarbe Gelb Y, =495 =700 Ag=570
Dreiecks-Helligkeit T*Tup
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R(A) Normreflexion, Ry=0,036,R,=0,900
OpumaIFarbe Weil W, A1=400 ,A;=700 A¢=
Dretecks-Hellgkett T*rus

100045

00 500,
WellenlangeA /nm

DGWEL-1A
R(A) Normreflexion, R,=0,036,R

9
OstwaldFarbe: Blau B, ;=400 A;=495 \4=470
Dreiecks-Helligkeit T*tus
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log[Rr(M)] = log[R(A)/0,18] Reflexion (log)
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Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (log)
OstwaldFarbe: Cyan C,\=400 \,=570 \¢=495
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Rr(A) = R(A)/0,18 Relative Reflexion
OstwaldFarbe: Gelb Y, 12495 A>=700 A¢=570
Dreiecks-Helligkeit T*tus
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R<() = I0g[R; (\)] = Iog[R(A)/0,18] Reflexion (Iog)
OstwaldFarbe: Gelb Y, A;=495 A>=700 A\¢=570
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